fzana

niko2015012206 +F000 HGT200mb

o

A

o

L o= e l- =] 170 e (W 1ETE 15 1MW 110

12500
17400
12300
12200
12150
12100
120850
12000
11&50
11900
11850
11800
11750
11700
11E50
11800
11550
11500
11450
11400
11350
11300

HTEST
nike2015012206 +FO000 HGT200mb

A,

e

L = 1TE |- =] 17E TEW |3 &7 1% 1w |10

12500
17400
12300
12200
12150
17100
12050
12000
11&50
115900
11850
11800
11750
11700
11650
11806
11550
11500
11450
114006
11 350
11300

HTEST —gfsana

niko2015012206 +F000

HGTZ00mb

L]

A

et

L S
Win= - 10,4500

War=53, 7803

(}- =] 17 E O 1 20w 1&Ta
ean= -1 58158
EMG =5 77845

15% 11w 170



fzana
niko20150122068 +FO000 HGTS0Omb

__ T

A

L o= e l- =] 170 e (W 1ETE 15 1MW 110w 100W

S0
TS
850
1. b
SHOO
5750
C s
&700
SHTS
SES0
ET T
#6000
E5TS
5500
5450
=428
L4
5350
LA b
#300
375
5250

HTEST

nike2015012206 +FO00 HGTS0O0mb

»

A,

g

L =

1TE |- =] 17E TEN |

1&Ta 1% 1MW 10w 1i0TE

S0
TS
L850
1. i
SHOD
5750
08
&700
SBTS
SE50
ET T
#600
E5TS
5500
£450
S428
S400
5150
5325
#300
g275
5250

HTEST —gfsana

niko2015012206 +F000 HGTS00mMb

L]

A

et

15 17OE
in=-E 15105
wgr=74,007

13

17 E O 1 20w 1&Ta 1578 11 110
ean= -2 | 30AH

BHS =1 1T



fzana HTEST HTEST —gfsana

niko20150122068 +F000 HGTBSOmb nika2015012206 +F000 HGTESOmb niko215012206 +F000 HGTES0mb
1550 B 1550 kR
500 i o] 1500 i d"b :L
1450 e 1450 e
1425 1475
14000 1M 1400 10K
1375 1275
1353 o8 1350 s
1324 1325
1300 '- 1300 N
1275 9% 1275 12 -,
1250 1250 . =
- -
1228 - 1228 - d i
1200 1200 h
1175 1175
1150 P | 1153 e |
1124 11258
11080 110
w5 85

1075 1075 _,;? .
1050 1050 &

- 1024 E v 1028 %

-rs 1000 -~ 1000
7 7
ars - s -

L= 4 TE ] =] 170w T [ 1478 15 1IT% 1w 10 (L= d TTE (I =] 17rE e (B ) 1&T& 155 17 1 108 10 1THE I- =} 170w e (B2 ) 1 &Td 157 11T 1 10 1T

=
W= = B 900 bean=0 03 TATIL
=00, 5283 BHG =0, 75B40m



fsana HTEST HTEST-gfsana

niko2015012206 +F000 HPBLsfc niko2015012206 +F000 HPBLsfc niko2015012206 +F000 HPBLsfe

2500 e ™
2200 - 4 1 : ;
2000 T
18
LT 0] 10K 10K
1500
L T
= 1 3000
b 12000 % %
=110 %% = L=
= 000 =

-
I~.=-u-:- - . B -

=00
400
300
200
o 110
150

1
.\".
i

00

TO0

= k] e | . |
&00 ,
EHn]
1T e o
200 Ll
100 526 5%
0

25

L == 4 1T ] =] 17 E 1 e 120w 1 &Td 1 %7 1 110w 1TE L= d 1T |- =] 170 Rl (B 1&Ta 157 11 110W 1iETd [ = d Ly (}- =] 17 E O 1 20 1&Ta 1578 1 110 1T
(S TR man= — B84 £37
[r— FMG =39ML062



fzana HTEST HTEST —gfsana
niku-iﬂlﬂﬂlﬂﬂgﬁ +FO00 RH200mb niko2015012206 +F000 RH200mb niko2015012206 +F000 RH200mb

"ﬁf.;a
]
T
106 104
100
an 0
- 11] - 11] EQ
0 M LY
5=
&0 &0
=450 =450 34
&0 &0
I I .
30 0
=20 =20 BE
10 10
V V s
(=]
0L QTE  IBC  1TUW  TEDW  IMW  16JW 1M 1I0W DW 100w 1456 1TE  IBC  TOW O IS0W  16JW 1MW 1MW D8 100w 1606 1TE  IBC  1TOW  TE0W (0w 1eJW  1M0% 10w 0w 100w
Mr=-50.5 Waare=-21.5675

Max=1. 37807 RMS =23.0768



fzana
niku-iﬂlﬂﬂlﬂﬂgﬁ +F0O00 RHS0Omb

A

L o=

e

l- =]

170 e (W 1ETE 15 11

1 10TE

106
an

[-11]

HTEST
niko2015012206 +F000 RH300mMb

L = 1TE |- =] 17E TEW |3 &7 1% 1MW 10w 1i0TE

104

a0

[-11]

T

&0

=50

L]

HTEST —gfsana

niko2015012206 +F000 RHS0O0mMD

L

»

I

L]
W >
L L
e &

[ ]

A

1
.,

e

T T
Mir=- 255048 W
Mar=31.6318

170E W (MW RTE 15% 11W 170 100W

sare=- 1,800 48

RMS =4, 33073



fzana
nikniﬂlﬁﬂlﬂﬂ% +FO00 RHA50mb

L o= e l- =] 170 e (W 1ETE 15 1MW 110w 100W

106
an

[-11]

HTEST
niko2015012206 +F000 RHA50mb

L = 1TE |- =] 17E TEW |3 &7 1% 1MW 10w 1i0TE

104
0

[-11]

L]

HTEST—gfsana
niko2015012206 +F000 RHBSOmb

‘.u,'.i"w-.
- " 1
B L%
ek
L1
]
i -y
! - ﬁ'
u
! .
. fﬁ
et P el
oo Fd
s .
L2
i
160C  1TOE 1BC  1TOW  NEDW 1SDW  1ETW 1MW 1FW 10w 100w
Win= -7 358 ean=0 151943
Wye=17,618 RNS =273



niko20150122

fzana
+FO00

SPFH200mb

™
!

T

L o=

e

l- =]

170 e (W 1ETE

15 1MW 110w 100W

20
8
16

14

HTEST
niko2015012206 +F000 SPFH200mb

1"1}
a, ]

L .
.

L =

1TE

|- =]

17E TN

1% 1MW 10w 1i0TE

20
18
16

14

L]

HTEST —gfsana

niko2015012206 +F000 SPFH200mb
"‘.u,'h"w-.
Ty 1
T
i 5
I
&

M= =4, 0467439
Mar=D 00Z 3T

Waarr=-{,0141JE6
RS =0.0738245

- - L L2t LE L -~

=]
n

i



niko20150122

fzana
+FO00

SPFHS00mb
A,

1
-,

T

L o=

e

l- =]

170 e (W 1ETE

15 11

1 10TE

20
8
16

14

TEST

"

H
niko2015012206 +F000 SPFH500mMb

A,
L
T,

L =

1TE

|- =]

17E TN

120w 1&TE

157 1w

110w 1i0TE

20
18
16

14

L]

HTEST —gfsana

niko2015012206 +F000 SPFHS00mMDb

™
Ty L
e
%
T
& -
i - ﬂ
"
1l
by
-'-. T
(L= 4 1T I- =} 170 e (B2 ) 1 &Td 150 11T 1 10 1T

Mire=={, 735487
Mae=Z_151.31

Wegrr=-{, 0378415
RMS =), 10432

- - L L2t LE L -~

=]
n

i



fzana HTEST HTEST —gfsana
nihuiﬂiﬁ-ﬂiﬂﬂﬁg +F000 SPFHB50Mb niko2015012206 +F000 SPFHE50mMb niko2015012206 +F000 SPFHE50mMb

Y "
- h
2 a B \‘\\ 38
20 <
1N : 8
18
2
16 EQ 1.5
1
14 .
= - 0.5
12 " - F o1
2 S .
" . . e N
! -0
e =1
a5 1= "
[ s =15
- i -
¥ r- - f e =
'S 0o i 5 - |
R = -5
z -3
=]
=35
-4
]
AL-= & 1THE e 17rE O 150w 1 &TE 15T 13 1 10TE TR THE - = 1TrE Rl 150w 1 ETE REC ] 1w 110w 1TE TR 1T I = by ] 150 1 ETE 157 11 11 e
W= i G365 Mmana=(l (H07U1E

L Lae L] FuE =90 BT



fzana
niko201501 Eil}g +F000 TMP200mb

A

L o= e l- =] 170 e (W 1ETE 15 1MW 110

100E

305
300
205
90
il )
B0
275
21
il i)
Lho
255
250
245
240
215
230
225
20
215
210
205
200

HTEST
niko2015012206 +F000 TMP200mb

A,

L = 1TE |- =] 17E TEW |3 &7 1% 1w |10

1i0TE

305
el
205
90
il i )
Lho
275
270
265
LhO
255
200
245
140
215
230
225
10
215
210
205

200

HTEST —gfsana

niko2015012206 +F000 TMP200mb

L]

A

e

1
.,

L= 1E

W= -, 310004
Maw=] S0

13

1706 1E0¥ 1AW 140w
Wearr=0. 107578
RMS =0. 211261

157

i

1 10w

LE L -~
(5]

L2t
(5]

L



fzana
niko201501 Eil}g +F000 TMPS00mb

A

1
-,

T

5] "u

i .

L J 1%
.. ] B

"™
»sf
. -
- ‘ ™
=]
L o= e l- =] 170 e (W 1ETE 15 1MW 110w 100W

305
300
205
90
il )
B0
275
21
il i)
Lho
255
250
245
240
215
230
225
20
215
210
205
200

H
niko2015012206 +

TEST

FOOO TMPS00mb

A,

B L
T
Ty
~
[ ]
L - a
J
-
L= d 1THE |- =] 170 Rl (B2 J 1&Ta 157 1w 110 1iETd

305
el
205
90
il i )
Lho
275
270
265
LhO
255
200
245
T40
215
230
225
10
215
210
205
200

HTEST —gfsana

niko2015012206 +F000 TMPS00mb

L]

A

1
.,

e

Mir=-2,691 20

L=

1E

Max=1 36002

13

Rl

| 2

Weare=0000 22787
RMS =0, 0reBTaN6

157

i

1 10w

LE L -~
(5]

L2t
(5]

L



fzana

niko2015012208 +F000

TWMPA50mb

=T

1,

L o= 17E l- =] 170 T D 1 &7 15 11

110 100E

|

|

|

305

205
90
il )
B0
275
21
il i)
Lho
255
250
245
240
215
230
225
20
215
210
205
200

HTEST
niko2015012206 +F000

TMPE50mb

=T

T,

L = 17E |- =] 17E TN | 1&Ta 157 1w

110w 1i0TE

I

| mEE

|

305
el
20%
90
il i )
Lho
275
270
265
LhO
255
200
245
140
215
230
225
10
215
210
205
200

EQ

L]

HTEST —gfsana

niko2015012206 +F000 TMP350mb

T
e 1
B L%
e,
L]
"
I_ -
a4 ﬁ
w
|
%,
ol
s '
kS
165 17OE 1B 17OW  TEDe 10w 1ETE 13PF  1T0W 10w 100w
Win=-1_114 pan=0 D2 {562
wyr=1918 RS = 15468

LE L -~
(5]

=]
=

L



fzana
niko2015012706 +F000 TMPsfe

A
L

T

L o=

e l- =] 170 e (W 1ETE 15 11

1 10TE

305
300
205
90
il )
B0
275
21
il i)
Lho
255
250
245
240
215
230
225
20
215
210
205
200

HTEST
niko2015012206 +F000 TMPsfc

A,
L
T,

L =

1TE |- =] 17E TEW |3 &7 157 1w

110w 1i0TE

305
el
205
90
il i )
Lho
275
270
265
LhO
255
200
245
140
215
230
225
10
215
210
205

200

L]

HTEST—gfsana
niko2015012206 +F000 TMPsfc

"J'iik
ay '|
W .
e,
L]
"
..
Y
1 & ﬁ
Y
1l
165 1TOE 1BC  1T0W  TEDW  |%W  14TW 1MW 1MW 10w 100w
Win=-1_80M1 Mean=( 00871484
=" A0E 14 RNS =01 7341)

LE L -~
(5]

L2t
(5]

L



niko201501 2206 +F000 gl.lGEDIﬂrnﬂhm-e NMGRD10mabove

fzana

L o= e l- =] 170 e (W 1ETE

HTEST

niko2015012206 +F000 UGRD10mabove VGRD10mabove

L = 1TE |- =] 17E TEW |3 &7

£l
=
=0
45
&0
38

M

z0
15

10

el ]

L]

HTEST—gfsana
niko2015012206 +F000 mag(UGRD10mabove VGRD10mabove)
A
T L
T
b - »
1
7
&

Win=-14, 73480
=+ | M0E

170W  TE0e
bean= <0 G2IALIS
BHS =08TE414



fzana
niko2015012206 -I-FQOgD UGRD200mb VGRD200mb

L o= e l- =] 170 e (W 1ETE 15 1MW 110w 100W

H
niko2015012206 +FO00

TEST

UGRD200mb, VGRD200mb

L = 1TE |- =] 17E TEW |3 &7 1% 1MW 10w 1i0TE

£l
=
=0
45
&0
38

M

z0
15

10

niko2015012206 +F000 mag(UGRD200mb VGRD200mb)
A

e

el ]

L]

HTEST—gfsana

L]

1
.,

15 17OE
in=-T 43071

W= TGO+

13

17 E O 1 20w 1&Ta
Mean= 0 | 35134

BHS =0 T8

15% 11W 170 100W



mgt:‘snnn HTEST HTEST—gfsana
niko2015012206 +F UGRDS00mb VGRDS00mb niko2015012206 +FO00 UGRDSM)mb VGRDS00mb niko2015012206 +FO00 mag(UGRDS00mb, VGRDS00mb)
60
200 20
55
1M =0 1M
45
EQ EQ
&0
£ 35 196
- M - ﬁ
25
- z0 =3
15
Lo L
10
e ¢ s
=] L=
L o= e l- =] 170 e (W 1ETE 15 1MW 110w 100W L = 1TE |- =] 17E TEW |3 &7 1% 1MW 10w 1i0TE “n-lﬁ-:ta._.' 5‘;&]‘_:' 13 H':::': --:;IEIHQET T&Ta 15% 11W 170 100W
Max=17. 4200 RMS =(. 787788




fsana TEST HTEST—gfsana

H
niko2015012206 +FO00

niko2015012206 +F UGRDE50mb VGRDEBS0mb UGRDE50mb, VGRDES0mb niko2015012206 +F000 mag(UGRDAS0mb VGRDA50mb)

60

il (] ]
55

1M =0 10K
45

EQ EQ
40

I-3 ] 5=

- Ll - ‘
25

- z0 =3
15

L= L=
10

e = s

=] (=]

0L QTE  IBC  1TUW TG IMW 1636 1MW (I0W  DW 100w 1456 1TE 180 NTOW (O IS0W  14JW 1MW 1MW 10w 100w nn-lile ::t;ﬁ 13 H'::::-'::_?‘I'I ?éﬂ 1476 1% 1IDW 100w 100w
Mav=1X2T4T RMS =, 3AMEE33

L
15
13
11

= i & =



gfsana
nika20150122068 +F000 umean,ymean

HTEST
nika2d 150122068 +F000 umean,ymean

T

1 20w

1 57

11w

1 10w

£l
=
=0
45
&0
38

M

z0
15

10

HTEST—gfsana
niko2015012206 +F000 mag({umean,vmean)
@
-"-Iﬂ-_?ﬁr (}- =] h;:::‘_ﬂ I:;Im.lulm 1&Ta 1578 11 110 1T
=51 6761 RS =5, 152504

L
15
13
11

= i & =



fzana
niko2015012206 +F000 windshear200-850

!

L o= 17E Ll- = 170 e 1 20w 1 &7 15 17 110 100E

HTEST
niko2015012206 +FO00 windshear200-850

L

1L ITOE IEC  1TOW (D" 10w 1ETE 1MW 130w 10w 1

i

i 7]

&4

HTEST —gfsana
niko2015012206 +F000 windshear200-850

R
o |
-] ¥
e,
LY
"
-
"
. -
o “w
i
r.
b
.l"l'-"I
o A '
‘¥
182 17O 132 1TOW EDW  |MDW TETE 1N 1IDW |08 100w
Win= - 18 B0 Mman= —[ | SRS

Mg = OO 7 RHS =i 508 7



